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Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to

attempt questions from one option only.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| EH$ go A{YH$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SEC TION–A

I S>–A

1. What makes a good a consumer good or a producer good? 2

Cn^mo∫$m `m CÀnmXH$ dÒVwAm| H$m dJuH$aU {H$g AmYma na hmoVm h°?

2. A firm’s opening stock and stock investment are R 2,000 and R 1,000

respectively. Calculate its closing stock. 2

EH$ \$_© H$m ‡mapÂ^H$ ÒQ>m∞H$ Am°a ÒQ>m∞H$ {Zdoe H´$_eÖ R 2,000 Am°a R 1,000 h°ü& BgHo$ Ap›V_
ÒQ>m∞H$ H$m n[aH$bZ H$s{OEü&

3. Why does the problem of how to produce arise? 2

H°$go CÀnmXZ H$a| H$s g_Ò`m ä`m| CÀnfi hmoVr h°?

318/HIS/110A 2



4. In an economy there is a growth of resources. Show it with the help of a

diagram. 2

EH$ AW©Ï`dÒWm _| gßgmYZm| H$m {dH$mg hmoVm h°ü& Bgo EH$ aoIm{MÃ H$s ghm`Vm go Xem©BEü&

5. Mention any two characteristics of statistical data. 2

gmßpª`H$s` Am±H$ãS>m| H$s H$moB© Xmo {deofVmE± ~VmBEü&

6. Define capital. 2

ny±Or H$s n[a^mfm Xr{OEü&

7. Give two examples each of real flows and money flows. 2

dmÒV{dH$ d _m°{–H$ ‡dmhm| Ho$ Xmo-Xmo CXmhaU Xr{OEü&

8. Calculate a firm’s value of output from the following data : 2

R (in lakhs)

(i) Gross value added at market price 75

(ii) Intermediate consumption expenditure 35

{ZÂZ{b{IV Am±H$ãS>m| go \$_© Ho$ CÀnmXZ Ho$ _yÎ` H$m n[aH$bZ H$s{OE Ö

R (bmImoß _|)

(i) ~mOma _yÎ` na gH$b _yÎ` d•{’ 75

(ii) _‹`dVu Cn^moJ Ï`` 35

9. State the law of supply. 2

ny{V© H$m {Z`_ ~VmBEü&

10. Give the meaning of sustainable development. State four strategies of

sustainable development. 5

YmaUr` {dH$mg H$m AW© ~VmBEü& BgH$s Mma ẁ{∫$`m± ~VmBEü&
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11. From the following frequency distribution, prepare a ‘more than’ cumulative

frequency distribution : 5

{ZÂZ{b{IV Amd•{Œm {dVaU go EH$ "go A{YH$' gßM`r Amd•{Œm {dVaU ~ZmBE Ö

Class Frequency

dJ© Amd•{Œm

  0–20

20–40

40–60

60–80

  80–100

16

20

24

14

  6

12. Distinguish between the following : 5

(a) Domestic product and National product

(b) Open economy and Closed economy

{ZÂZ{b{IV _| ^oX H$s{OE :

(H$) Kaoby CÀnmX Am°a amÔ¥>r` CÀnmX

(I) Iwbr AW©Ï`dÒWm Am°a ~›X AW©Ï`dÒWm

13. Calculate ‘national income’ from the following data : 5

R (in crores)

(i) Rent 50

(ii) Interest 40

(iii) Net indirect taxes 10

(iv) Net factor income from abroad 20

(v) Compensation of employees 200  

(vi) Profit 80

(vii) Mixed income of self-employed 300  
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{ZÂZ{b{IV Am±H$ãS>m| go "amÔ¥>r` Am`' H$m n[aH$bZ H$s{OE Ö

     R (H$amoãS> _|)

(i) {H$am`m$    50

(ii) „`mO 40    

(iii) {Zdb A‡À`j H$a 10    

(iv) {dXoem| go {Zdb gmYZ Am` 20    

(v) H$_©Mm[a`m| H$m nm[al{_H$ 200    

(vi) bm^ 80    

(vii) Òd-{Z`mo{OVm| H$s {_{lV Am` 300    

14. Explain the effect of excess demand of a commodity on its price, quantity

demanded and quantity supplied. 5

EH$ dÒVw H$s A{V[a∫$ _m±J Ho$ CgH$s H$s_V, _m±J _mÃm Am°a Amny{V© _mÃm na ‡^md H$s Ï`mª`m
H$s{OEü&

15. Give the meaning of fiscal deficit. Describe the ways of financing it. 5

amOH$mofr` KmQ>o H$m AW© ~VmBEü& BgHo$ {dŒm-nmofU Ho$ VarH$m| H$m dU©Z H$s{OEü&

16. Describe the problems faced by the Indian economy during 1991. 5

df© 1991 Ho$ Xm°amZ ^maVr` AW©Ï`dÒWm H$mo {OZ g_Ò`mAm| H$m gm_Zm H$aZm nãS>m, CZH$m dU©Z
H$s{OEü&

17. Explain the achievements of economic planning in India. 8

^maV _| Am{W©H$ {Z`moOZ H$s _wª` Cnbp„Y`m| H$s Ï`mª`m H$s{OEü&
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18. Calculate the arithmetic mean by ‘step-deviation’ method from the data given

below : 8

ZrMo {XE JE Am±H$ãS>m| go "nX-{dMbZ' {d{Y ¤mam AßH$J{UVr` _m‹` H$m n[aH$bZ H$s{OE Ö

Class Frequency

dJ© Amd•{Œm

  0–20

20–40

40–60

60–80

 5

 6

15

 4

19. Explain the following methods of regulating money supply : 8

(a) Open market operations

(b) Selective credit control

_w–m ny{V© H$mo {Z`ß{ÃV H$aZo H$s {ZÂZ{b{IV {d{Y`m| H$s Ï`mª`m H$s{OE Ö

(H$) Iwbr ~mOma H$s {H´$`mE±

(I) M`[ZV gmI {Z ß̀ÃU

20. Complete the following table : 8

{ZÂZ{b{IV Vm{bH$m H$mo nyam H$s{OE Ö

Output (units) Marginal cost (R) Average cost (R) Total cost (R)

CÀnmXZ (BH$mB©) gr_m›V bmJV (R) Am°gV bmJV (R) Hw$b bmJV (R)

1 10 —— ——

2  8 —— ——

3  9 —— ——

4 13 —— ——
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SECTION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Role of Agriculture and Industry in India’s Economic Development )

( ^maV Ho$ Am{W©H$ {dH$mg _| H•${f Am°a C⁄moJ H$s ŷ{_H$m )

21. Give the meaning of intensive cultivation and extensive cultivation. 2

JhZ H•${f Am°a {dÒV•V H•${f H$m AW© ~VmBEü&

22. What measures have been taken by the government to promote small-scale

industries? 5

bKw C⁄moJm| H$mo ~ãT>mdm XoZo Ho$ {bE gaH$ma ¤mam ä`m Cnm` {H$E JE?

23. How is agriculture sector dependent on industrial sector for funds and

marketing? Explain. 8

H•${f joÃ, YZ Am°a {dnUZ Ho$ {bE Am°⁄mo{JH$ joÃ na {H$g ‡H$ma {Z ©̂a h°? g_PmBEü&

OPTION–II

{dH$ÎnçII

( Population and Economic Development )

( OZgßª`m Am°a Am{W©H$ {dH$mg )

21. Define dependency ratio and sex ratio. 2

{Z ©̂aVm AZwnmV Am°a qbJ AZwnmV H$s n[a^mfm Xr{OEü&

22. Describe the role of family planning programme in controlling population

growth. 5

OZgßª`m d•{’ H$mo {Z ß̀ÃU H$aZo _| n[adma {Z`moOZ H$m ©̀H´$_ Ho$ `moJXmZ H$m dU©Z H$s{OEü&

23. Explain the effects of high rate of growth of population on human resources. 8

OZgßª`m H$s D±$Mr d•{’-Xa Ho$ _mZdr` gßgmYZm| na ‡^md H$s Ï`mª`m H$s{OEü&

H H H
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